## OSCILLATION CONDITIONS FOR DIFFERENCE EQUATIONS WITH SEVERAL VARIABLE DELAYS

# Bassant M. El-Matary, Hassan A. El-Morshedy, Vasileios Benekas, and Ioannis P. Stavroulakis

### Communicated by Josef Diblík

**Abstract.** A technique is developed to establish a new oscillation criterion for a first-order linear difference equation with several delays and non-negative coefficients. Our result improves recent oscillation criteria and covers the cases of monotone and non-monotone delays. Moreover, the paper is concluded with an illustrative example to show the applicability and strength of our result.

Keywords: oscillation, difference equations, non-monotone delays, first order.

Mathematics Subject Classification: 39A10, 39A21.

### 1. INTRODUCTION

In this paper, we study the oscillation of the first order delay difference equation with several retarded arguments of the form

$$\Delta y(n) + \sum_{i=1}^{m} p_i(n) y(\tau_i(n)) = 0, \quad n \in \mathbb{N}_0,$$
(1.1)

where  $(p_i(n))$ ,  $1 \le i \le m$  are sequences of non-negative real numbers and  $(\tau_i(n))$  is a sequence of integers for each  $1 \le i \le m$  such that

$$\tau_i(n) \le n-1, \quad n \in \mathbb{N}_0 \quad \text{and} \quad \lim_{n \to \infty} \tau_i(n) = \infty, \quad 1 \le i \le m.$$
 (1.2)

Here,  $\Delta$  denotes the forward difference operator  $\Delta y(n) = y(n+1) - y(n)$  and  $\mathbb{N}_0$  is the set of non-negative integers. In view of (1.2), the number

$$w = -\min_{\substack{n \ge 0\\1 \le i \le m}} \tau_i(n)$$

is a finite positive integer.

© 2023 Authors. Creative Commons CC-BY 4.0

By a solution of Eq. (1.1), we mean a sequence of real numbers  $(y(n))_{n\geq -w}$ which satisfies Eq. (1.1) for all  $n \geq 0$ . Clearly, for each choice of real numbers  $c_{-w}, c_{-w+1}, \ldots, c_{-1}, c_0$ , there exists a unique solution  $(y(n))_{n\geq -w}$  of Eq. (1.1) which satisfies the initial conditions

$$y(-w) = c_{-w}, y(-w+1) = c_{-w+1}, \dots, y(-1) = c_{-1}, y(0) = c_0.$$

Such a solution is called oscillatory if the terms y(n) of the sequence are neither eventually positive nor eventually negative; otherwise it is called non-oscillatory. The equation is oscillatory if all its solutions oscillate.

Assume that the arguments  $\tau_i(n)$ ,  $1 \leq i \leq m$ , are not necessarily monotone,

$$\tau(n) := \max_{1 \le i \le m} \tau_i(n), \quad \gamma_i(n) := \max_{0 \le s \le n} \tau_i(s)$$
  
and  $\gamma(n) := \max_{1 \le i \le m} \gamma_i(n), \text{ for all } n \in \mathbb{N}_0.$  (1.3)

Throughout this work, we will consider the following:

$$\sum_{i=r}^{r-1} A(i) = 0 \quad \text{and} \quad \prod_{i=r}^{r-1} A(i) = 1, \quad \text{where } A(i) \in \mathbb{R}^+,$$
$$\tilde{p}(n) := \sum_{i=1}^m p_i(n),$$
$$\alpha := \liminf_{n \to \infty} \sum_{j=\tau(n)}^{n-1} \tilde{p}(j), \tag{1.4}$$

and

$$D(\omega) := \begin{cases} 0, & \text{if } \omega > 1/e, \\ \frac{1-\omega-\sqrt{1-2\omega-\omega^2}}{2}, & \text{if } \omega \in [0, 1/e]. \end{cases}$$
(1.5)

Also,  $\lambda_0$  stands for the smaller root of the transcendental equation  $\lambda = e^{\alpha \lambda}$ .

Our aim in this work is to improve recent oscillation criteria of the limsup type. The first of this type of conditions appeared in [9] for Eq. (1.1) with m = 1 in the form

$$\limsup_{n \to \infty} \sum_{j=\gamma(n)}^{n} \tilde{p}(j) > 1.$$
(1.6)

This condition is working also for Eq. (1.1), see [11]. Other interesting nonoscillation criteria can be found in [4]. The reader is referred to [1-3, 5-11, 13, 14] for several improvements of (1.6) for Eq. (1.1) with general delay arguments. One of these improvements (see [6]) states that (1.1) is oscillatory if

$$\limsup_{n \to \infty} \sum_{l=\gamma(n)}^{n} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{\gamma(n)-1} \tilde{p}(j) \prod_{u=\tau(j)}^{j-1} \frac{1}{1-Z_w(u)}\right) > 1 - D(\alpha), \text{ for some } w \in \mathbb{N},$$
(1.7)

where

$$Z_w(n) = \tilde{p}(n) \left[ 1 + \sum_{l=\tau(n)}^{n-1} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{n-1} \tilde{p}(j) \prod_{u=\tau(j)}^{j-1} \frac{1}{1 - Z_{w-1}(u)}\right) \right]$$

with

$$Z_0(n) = \tilde{p}(n) \left[ 1 + \sum_{l=\tau(n)}^{n-1} \tilde{p}(l) \exp(\lambda_0 \sum_{j=\tau(l)}^{n-1} \tilde{p}(j)) \right].$$

In this paper not only an essential improvement of (1.7) is established but also a criterion that works on certain equations when other known criteria fail to do so.

The following lemmas will be used in our proof.

**Lemma 1.1** ([5]). Assume that (1.2) holds and  $\alpha$  is defined by (1.4) with  $\alpha > 0$ . Then we have

$$\liminf_{n \to \infty} \sum_{j=\gamma(n)}^{n-1} \tilde{p}(j) = \liminf_{n \to \infty} \sum_{j=\tau(n)}^{n-1} \tilde{p}(j) = \alpha,$$

where  $\gamma(n)$ ,  $\tau(n)$  are defined by (1.3).

**Lemma 1.2** ([5]). Assume that (1.2) holds,  $\alpha$  is defined by (1.4) with  $0 < \alpha \le 1/e$ , and y(n) is an eventually positive solution of (1.1). Then we have

$$\liminf_{n \to \infty} \frac{y(\gamma(n))}{y(n)} \ge \lambda_0, \tag{1.8}$$

where  $\gamma(n)$  is defined by (1.3).

Let y(n) be an eventually positive solution of (1.1). Then y(n) will be an eventually positive nonincreasing solution of the inequality

$$\Delta y(n) + \tilde{p}(n)y(\gamma(n)) \le 0.$$

On the other hand, a close look at the proof of [12, Lemma 2.1] shows that it can be carried out verbatim on this inequality. This leads to the following result; see also [6, Lemma 3].

**Lemma 1.3.** Assume that (1.2) holds,  $\gamma(n)$  is defined by (1.3),  $\alpha$  is defined by (1.4) with  $0 < \alpha \le 1/e$  and y(n) is an eventually positive solution of (1.1). Then

$$\liminf_{n \to \infty} \frac{y(n+1)}{y(\gamma(n))} \ge D(\alpha),$$

where  $D(\alpha)$  is defined by (1.5).

### 2. MAIN RESULTS

**Lemma 2.1.** Assume that y(n) is an eventually positive solution of (1.1) for all  $n \ge n_0 > 0$ . Then there exists a sub-sequence  $\{n_k\}$  such that  $n_k \ge n_{k-1}$ ,  $\tau(n) > n_{k-1}$  for  $n \ge n_k$ , k = 1, 2, ... and

$$\frac{y(n+1)}{y(n)} \le v(n,k) \quad \text{for all } n \ge n_k, \tag{2.1}$$

where

$$v(n,k) = 1 - \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} v^{-1}(j,k-1) \quad \text{for all } n \ge n_{k+1}, \ k = 1,2,\dots,$$
(2.2)

and v(n,0) = 1 for all  $n \ge n_1$ .

*Proof.* Since y(n) > 0 for all  $n \ge n_0$ , then  $\Delta y(n) \le 0$  as long as  $\tau_i(n) > n_0$ , for all  $i = 1, 2, \ldots, m$ . Since  $\lim_{n \to \infty} \tau_i(n) = \infty$ ,  $1 \le i \le m$ , then there exists  $n_1 \ge n_0$  such that  $\tau_i(n) > n_0$  for each i and all  $n \ge n_1$ . Then (1.1) implies that

$$y(n+1) - y(n) + \tilde{p}(n)y(\tau(n)) \le 0$$
, for all  $n \ge n_1$ . (2.3)

Dividing by y(n), and using the product representation of the quotient  $\frac{y(\tau(n))}{y(n)}$ , we obtain

$$\frac{y(n+1)}{y(n)} - 1 + \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} \frac{y(j)}{y(j+1)} \le 0, \quad \text{for all } n \ge n_1.$$

Let  $u(n) = \frac{y(n+1)}{y(n)}$  for all  $n \ge n_0$ . Then

$$u(n) \le 1 - \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} u^{-1}(j), \quad n \ge n_1.$$
 (2.4)

Since u(n) < 1 = v(n, 0) for  $n \ge n_1$ , then (2.4) yields

$$u(n) \le 1 - \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} v^{-1}(j,0) = v(n,1), \quad n \ge n_2,$$
(2.5)

where  $n_2 \ge n_1$  is so large that  $\tau(n) \ge n_1$  for all  $n \ge n_2$ . Substituting from (2.5) in (2.4), we obtain

$$u(n) \le 1 - \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} v^{-1}(j,1) = v(n,2), \quad n \ge n_3,$$

where  $n_3 \ge n_2$  and  $\tau(n) \ge n_2$  for all  $n \ge n_3$ . Continuing this way, we arrive at

$$u(n) \le 1 - \tilde{p}(n) \prod_{j=\tau(n)}^{n-1} v^{-1}(j, k-1) = v(n, k), \quad n \ge n_{k+1}, \quad k = 1, 2, \dots$$

The proof is complete.

**Theorem 2.2.** Assume that there exist  $l, k \in \mathbb{N}_0$  and  $\epsilon > 0$  such that

$$\lim_{n \to \infty} \sup_{n \to \infty} \left( \sum_{i_1 = \gamma(n)}^{n} \tilde{p}(i_1) \exp\left( \sum_{j = \tau(i_1)}^{\gamma(n) - 1} \tilde{p}(j) \prod_{i_2 = \tau(j)}^{j - 1} \frac{1}{1 - F_l(i_2, \epsilon)} + A(\gamma(n), \tau(i_1), k) \right) \right) > 1 - D(\alpha),$$
(2.6)

where

$$\begin{split} & F_{l}(n,\epsilon) \\ &= \tilde{p}(n) \left( 1 + \sum_{i_{1}=\tau(n)}^{n-1} \tilde{p}(i_{1}) \exp\left(\sum_{j=\tau(i_{1})}^{n-1} \tilde{p}(j) \prod_{i_{2}=\tau(j)}^{j-1} \frac{1}{1 - F_{l-1}(i_{2},\epsilon)} + A(n,\tau(i_{1}),k)\right) \right), \\ & F_{0}(n,\epsilon) = \tilde{p}(n) \left( 1 + \sum_{i_{1}=\tau(n)}^{n-1} \tilde{p}(i_{1}) \exp\left((\lambda_{0}-\epsilon) \sum_{j=\tau(i_{1})}^{n-1} \tilde{p}(j) + A(n,\tau(i_{1}),k)\right) \right). \end{split}$$

and

$$A(n,r,k) = \sum_{j=r}^{n-1} (v(j,k) - \ln v(j,k) - 1), \quad r \ge n_k, \quad k = 1, 2, \dots,$$

where v(n,k) is defined by (2.2). Then Eq. (1.1) is oscillatory.

*Proof.* Assume that y(n) is an eventually positive solution of (1.1) for sufficiently large n. Let  $n_0 \ge 0$  be an integer such that y(n) > 0, for all  $n \ge n_0$ . Then, there exists  $n_1 \ge n_0$  such that (2.3) holds, which yields

$$\Delta y(n) \le -\sum_{i=1}^{m} p_i(n) y(\tau(n)) = -\tilde{p}(n) y(\tau(n)), \quad \text{for all } n \ge n_1.$$
(2.7)

Now, dividing Eq. (2.7) by y(n) and summing up from r to n-1, we get

$$\sum_{j=r}^{n-1} \frac{\Delta y(j)}{y(j)} \le -\sum_{j=r}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)}.$$
(2.8)

Notice that  $e^x \ge x + e^a - a$ , for all  $x \le a \le 0$ . Moreover, the sequence  $\{n_k\}$  of Lemma 2.1 exists. Then using (2.1), we have

$$\exp\left(\ln\frac{y(j+1)}{y(j)}\right) \ge \ln\frac{y(j+1)}{y(j)} + \exp(\ln v(j,k)) - \ln v(j,k)$$
$$= \ln\frac{y(j+1)}{y(j)} + v(j,k) - \ln v(j,k), \quad j \ge n_k.$$

Now, using the above inequality, we get

$$\sum_{j=r}^{n-1} \frac{\Delta y(j)}{y(j)} = \sum_{j=r}^{n-1} \left( \frac{y(j+1)}{y(j)} - 1 \right)$$
$$= \sum_{j=r}^{n-1} \left( \exp\left(\ln\frac{y(j+1)}{y(j)}\right) - 1 \right)$$
$$\ge \sum_{j=r}^{n-1} \left( \ln\frac{y(j+1)}{y(j)} + v(j,k) - \ln v(j,k) - 1 \right)$$
$$= \ln\frac{y(n)}{y(r)} + A(n,r,k), \quad r \ge n_k.$$

Combining this together with (2.8), we obtain

$$\ln \frac{y(n)}{y(r)} + A(n, r, k) \le -\sum_{j=r}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)}, \quad r \ge n_k.$$

Hence,

$$y(r) \ge y(n) \exp\Big(\sum_{j=r}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)} + A(n,r,k)\Big), \quad n \ge r \ge n_k.$$
(2.9)

Summing up (2.7) from  $\tau(n)$  to n-1 and rearranging, we obtain

$$y(n) - y(\tau(n)) + \sum_{i_1 = \tau(n)}^{n-1} \tilde{p}(i_1) y(\tau(i_1)) \le 0.$$
(2.10)

From (2.9) and the fact that  $\tau(i_1) \leq n$ , the last inequality takes the form

$$y(n) - y(\tau(n)) + y(n) \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\Big(\sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)} + A(n,\tau(i_1),k)\Big) \le 0, \quad n \ge n_k.$$

Moreover, multiplying the above inequality by  $\tilde{p}(n)$ , for  $n \ge n_k$  we get

$$\tilde{p}(n)y(n) - \tilde{p}(n)y(\tau(n)) + \tilde{p}(n)y(n) \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\left(\sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)} + A(n,\tau(i_1),k)\right) \le 0$$

This and (2.7) give

$$\Delta y(n) + \tilde{p}(n) \left( 1 + \sum_{i_1 = \tau(n)}^{n-1} \tilde{p}(i_1) \exp\left(\sum_{j = \tau(i_1)}^{n-1} \tilde{p}(j) \frac{y(\tau(j))}{y(j)} + A(n, \tau(i_1), k)\right) \right) y(n) \le 0, \quad n \ge n_k.$$
(2.11)

Assuming that  $n_0$  is sufficiently large that

$$y(\gamma(n)) > (\lambda_0 - \epsilon)y(n), \text{ for all } n \ge n(\epsilon) \ge n_k$$

and each  $\epsilon > 0$ . Then

$$y(\tau(n)) > (\lambda_0 - \epsilon)y(n), \text{ for all } n \ge n_k.$$
 (2.12)

Combining (2.11) and (2.12), we get

$$\Delta y(n) + F_0(n,\epsilon)y(n) \le 0, \quad n \ge n_k,$$

where

$$F_0(n,\epsilon) = \tilde{p}(n) \left( 1 + \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\left( (\lambda_0 - \epsilon) \sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) + A(n,\tau(i_1),k) \right) \right).$$

That is,  $0 < \frac{y(n+1)}{y(n)} \le 1 - F_0(n, \epsilon)$ , for  $n \ge n_k$ . Taking the product on both sides, we obtain

$$y(r) \ge y(n) \prod_{j=r}^{n-1} \frac{1}{1 - \mathcal{F}_0(j,\epsilon)}, \quad \text{for all } n \ge r \ge n_k.$$

It follows that  $y(\tau(j)) \ge y(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1-F_0(i_2,\epsilon)}$ , for all  $j \ge n_{k+1}$ . Substituting into (2.9), we have

$$y(r) \ge y(n) \exp\Big(\sum_{j=r}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_0(i_2,\epsilon)} + A(n,r,k)\Big), \quad r \ge n_{k+1}.$$
(2.13)

From (2.10) and (2.13), we obtain

$$y(n) - y(\tau(n)) + y(n) \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\left(\sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - F_0(i_2, \epsilon)} + A(n, \tau(i_1), k)\right) \le 0, \quad n \ge n_{k+3}.$$

Multiplying the above inequality by  $\tilde{p}(n)$ , for  $n \ge n_{k+3}$  we get

$$\tilde{p}(n)y(n) - \tilde{p}(n)y(\tau(n)) + \tilde{p}(n)y(n) \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\Big(\sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_0(i_2,\epsilon)} + A(n,\tau(i_1),k)\Big) \le 0.$$

This and (2.7) give

$$\Delta y(n) + \tilde{p}(n) \left( 1 + \sum_{i_1=\tau(n)}^{n-1} \tilde{p}(i_1) \exp\left(\sum_{j=\tau(i_1)}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_0(i_2,\epsilon)} + A(n,\tau(i_1),k)\right) \right) y(n) \le 0,$$

for  $n \ge n_{k+3}$ . Then

$$\Delta y(n) + \mathcal{F}_1(n,\epsilon)y(n) \le 0, \quad n \ge n_{k+3}, \tag{2.14}$$

where

$$F_{1}(n,\epsilon) = \tilde{p}(n) \left( 1 + \sum_{i_{1}=\tau(n)}^{n-1} \tilde{p}(i_{1}) \exp\left(\sum_{j=\tau(i_{1})}^{n-1} \tilde{p}(j) \prod_{i_{2}=\tau(j)}^{j-1} \frac{1}{1 - F_{0}(i_{2},\epsilon)} + A(n,\tau(i_{1}),k)\right) \right).$$

That is,  $0 < \frac{y(n+1)}{y(n)} \le 1 - F_1(n, \epsilon)$ , for all  $n \ge n_{k+3}$ . Taking the product on both sides, we have

$$y(r) \ge y(n) \prod_{j=r}^{n-1} \frac{1}{1 - \mathcal{F}_1(j,\epsilon)}, \quad \text{for all } n \ge r \ge n_{k+3}.$$

It follows that

$$y(\tau(j)) \ge y(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - F_1(i_2, \epsilon)}, \quad j \ge n_{k+4}.$$

Substituting into (2.9), we obtain

$$y(r) \ge y(n) \exp\Big(\sum_{j=r}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_1(i_2, \epsilon)} + A(n, r, k)\Big), \quad r \ge n_{k+4}.$$
(2.15)

Applying the same strategy implying (2.14), we arrive at the inequality

$$\Delta y(n) + F_2(n,\epsilon)y(n) \le 0, \quad n \ge n_{k+6}$$

Now, by induction, we obtain  $\Delta y(n) + F_l(n, \epsilon)y(n) \leq 0$ , for all  $n \geq n_{k+3l}$ , where

$$F_{l}(n,\epsilon) = \tilde{p}(n) \left( 1 + \sum_{i_{1}=\tau(n)}^{n-1} \tilde{p}(i_{1}) \exp\left(\sum_{j=\tau(i_{1})}^{n-1} \tilde{p}(j) \prod_{i_{2}=\tau(j)}^{j-1} \frac{1}{1 - F_{l-1}(i_{2},\epsilon)} + A(n,\tau(i_{1}),k)\right) \right).$$

Therefore, in a similar fashion as (2.15), we obtain

$$y(r) \ge y(n) \exp\Big(\sum_{j=r}^{n-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - F_l(i_2,\epsilon)} + A(n,r,k)\Big), \quad n \ge n_{k+3l+1}.$$
(2.16)

Again, summing up (2.7) from  $\gamma(n)$  to n and rearranging, we obtain

$$y(n+1) - y(\gamma(n)) + \sum_{i_1=\gamma(n)}^{n} \tilde{p}(i_1)y(\tau(i_1)) \le 0.$$

From (2.16), taking into account the fact  $\tau(i_1) \leq \gamma(i_1) \leq \gamma(n)$ , we obtain

$$y(n+1) - y(\gamma(n)) + y(\gamma(n)) \sum_{i_1=\gamma(n)}^{n} \tilde{p}(i_1) \exp\left(\sum_{j=\tau(i_1)}^{\gamma(n)-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_l(i_2,\epsilon)} + A(\gamma(n),\tau(i_1),k)\right) \le 0,$$

that is,

$$\sum_{i_1=\gamma(n)}^{n} \tilde{p}(i_1) \exp\Big(\sum_{j=\tau(i_1)}^{\gamma(n)-1} \tilde{p}(j) \prod_{i_2=\tau(j)}^{j-1} \frac{1}{1-F_l(i_2,\epsilon)} + A(\gamma(n),\tau(i_1),k)\Big) \le 1 - \frac{y(n+1)}{y(\gamma(n))},$$

for  $n \ge n_{k+2(l+1)}$ . Therefore,

$$\limsup_{n \to \infty} \left( \sum_{i_1 = \gamma(n)}^n \tilde{p}(i_1) \exp\left( \sum_{j=\tau(i_1)}^{\gamma(n)-1} \tilde{p}(j) \prod_{i_2 = \tau(j)}^{j-1} \frac{1}{1 - \mathcal{F}_l(i_2, \epsilon)} + A(\gamma(n), \tau(i_1), k) \right) \right) \le 1 - D(\alpha).$$

This contradicts (2.6). The proof is complete.

**Remark 2.3.** Since  $A(\gamma(n), \tau(i_1), k)$  is positive and  $F_l(n, \epsilon)$  increases in  $A(\gamma(n), \tau(i_1), k)$ , then its lower bound, with respect to A, equals  $Z_w(n)$  for sufficiently small  $\epsilon$ . This means that the left-hand side of (2.6) is greater than the left-hand side of (1.7). Thus condition (2.6) is a substantial improvement of (1.7).

In the next example we show the strength of our condition over some known oscillation criteria including (1.7). First, we collect those criteria as follows:

(1) Chatzarakis, Horvat-Dmitrović and Pašić [8]:

$$\limsup_{n \to \infty} \sum_{j=\gamma(n)}^{n} \tilde{p}(j) \prod_{i=\tau(j)}^{\gamma(n)-1} \frac{1}{1 - \tilde{p}_w(i)} > 1,$$
(2.17)

where  $w \in \mathbb{N}$  and

$$\tilde{p}_w(n) = \tilde{p}(n) \left[ 1 + \sum_{i=\tau(n)}^{n-1} \tilde{p}(i) \prod_{j=\tau(i)}^{\gamma(n)-1} \frac{1}{1 - \tilde{p}_{w-1}(j)} \right],$$

with  $\tilde{p}_0(n) = \tilde{p}(n)$ .

(2) Chatzarakis and Pašić [7]:

$$\limsup_{n \to \infty} \sum_{l=\gamma(n)}^{n} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{\gamma(n)-1} \tilde{p}(j) \prod_{i=\tau(j)}^{j-1} \frac{1}{1-\tilde{R}_w(i)}\right) > 1, \quad \text{for some } w \in \mathbb{N},$$
(2.18)

where

with

$$\widetilde{R}_{w}(n) = \widetilde{p}(n) \left[ 1 + \sum_{l=\tau(n)}^{n-1} \widetilde{p}(l) \exp\left(\sum_{j=\tau(\ell)}^{n-1} \widetilde{p}(j) \prod_{i=\tau(j)}^{j-1} \frac{1}{1 - \widetilde{R}_{w-1}(i)}\right) \right]$$
$$\widetilde{R}_{0}(n) = \widetilde{p}(n) \left[ 1 + \lambda_{0} \sum_{l=\tau(n)}^{n-1} \widetilde{p}(\ell) \right].$$

(3) Kilic and Ocalan [14]:

$$\liminf_{n \to \infty} \left( \sum_{j=\tau(n)}^{n-1} \left( \sum_{i=1}^{m} \left( p_i(j) \prod_{l=\tau_i(j)}^{\gamma(j)-1} (1-\tilde{p}(l))^{-1} \right) \right) \right) > \frac{1}{\mathrm{e}}.$$
(2.19)

Example 2.4. Consider the first order difference equation with several delays

$$\Delta y(n) + p_1(n)y(\tau_1(n)) + p_2(n)y(\tau_2(n)) = 0, \qquad (2.20)$$

where  $p_1(n) = 0.17$ ,  $p_2(n) = 0.005$ ,

$$\tau_1(n) = \begin{cases} n-1, & \text{if } n = 3k, \\ n-3, & \text{if } n = 3k+1, \\ n-1, & \text{if } n = 3k+2, \end{cases}$$

and  $\tau_2(n) = \tau_1(n) - 1$ , where  $k \in \mathbb{N}_0$ . Clearly,

$$\gamma_1(n) = \begin{cases} n-1, & \text{if } n = 3k, \\ n-2, & \text{if } n = 3k+1, \\ n-1, & \text{if } n = 3k+2, \end{cases}$$

and

$$\alpha := \liminf_{n \to \infty} \sum_{j=\tau(3k)}^{3k-1} \tilde{p}(j) = 0.175 < 1.$$

It follows that  $\lambda_0 \approx 1.242995532$  and  $1 - D(\alpha) \approx 0.9810019060$ . Since v(n,0) = 1 and (2.2), we get

$$v(n,1) = 1 - \tilde{p}(n) \prod_{j=\tau(3k)}^{3k-1} v^{-1}(j,0) = 1 - \sum_{j=1}^{2} p_j(n) = 1 - 0.175 = 0.825.$$

Then

$$A(n,r,1) = \sum_{j=r}^{n-1} \left( v(j,1) - \ln v(j,1) - 1 \right) = 0.0173718926(n-r).$$

Also, for  $\epsilon = 0.0001$ , we have

$$\begin{split} \limsup_{n \to \infty} & \sum_{i_1 = \gamma(n)}^{n} \tilde{p}(i_1) \exp\left(\sum_{j = \tau(i_1)}^{\gamma(n) - 1} \tilde{p}(j) \prod_{i_2 = \tau(j)}^{j - 1} \frac{1}{1 - \mathcal{F}_1(i_2, \epsilon)} + A(\gamma(n), \tau(i_1), 1)\right) \\ &= \lim_{k \to \infty} & \sum_{i_1 = \gamma(3k+2)}^{3k+2} \tilde{p}(i_1) \exp\left(\sum_{j = \tau(i_1)}^{\gamma(3k+2) - 1} \tilde{p}(j) \prod_{i_2 = \tau(j)}^{j - 1} \frac{1}{1 - \mathcal{F}_1(i_2, \epsilon)} \right. \\ & \left. + A(\gamma(3k+2), \tau(i_1), 1) \right) \\ &= 1.06 > 1 - D(\alpha). \end{split}$$

Then according to Theorem 2.2, for l = 1 the equation is oscillatory.

Now we show that other criteria fail to show that (2.20) is oscillatory. All calculation are done using Mathematica software. First, we see that (2.17) fails, for w = 2, since

$$\limsup_{n \to \infty} \sum_{l=\gamma_1(n)}^{n} \tilde{p}(l) \prod_{i=\tau(\ell)}^{\gamma(n)-1} \frac{1}{1-\tilde{p}_w(i)} = \lim_{k \to \infty} \sum_{l=\gamma_1(3k+2)}^{3k+2} 0.175 \prod_{i=\tau(\ell)}^{\gamma(3k+2)-1} \frac{1}{1-\tilde{p}_2(i)} < 0.638.$$

Second, (2.18) fails, for w = 1, since

$$\begin{split} &\limsup_{n \to \infty} \sum_{l=\gamma(n)}^{n} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{\gamma(n)-1} \tilde{p}(j) \prod_{i=\tau(j)}^{j-1} \frac{1}{1-\tilde{R}_{w}(i)}\right) \\ &= \lim_{k \to \infty} \sum_{l=\gamma_{1}(3k+2)}^{3k+2} 0.175 \exp\left(\sum_{j=\tau(l)}^{\gamma_{1}(3k+2)-1} 0.175 \prod_{i=\tau(j)}^{j-1} \frac{1}{1-\tilde{R}_{1}(i)}\right) < 0.814. \end{split}$$

Also, (1.7) fails, for w = 1, since

$$\lim_{n \to \infty} \sup_{l=\gamma_1(n)} \sum_{\ell=\gamma_1(n)}^{n} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{\gamma_1(n)-1} \tilde{p}(j) \prod_{u=\tau(j)}^{j-1} \frac{1}{1-Z_1(u)}\right)$$
$$= \lim_{k \to \infty} \sum_{\ell=\gamma_1(3k+1)}^{3k+1} \tilde{p}(l) \exp\left(\sum_{j=\tau(l)}^{\gamma_1(3k+1)-1} \tilde{p}(j) \prod_{u=\tau(j)}^{j-1} \frac{1}{1-Z_1(u)}\right) < 0.908.$$

Finally,

$$\lim_{n \to \infty} \inf_{\substack{j=\tau(n)}} \sum_{j=\tau(n)}^{n-1} \left( \sum_{i=1}^{2} \left( p_i(j) \prod_{l=\tau(j)}^{\gamma_1(j)-1} (1-\tilde{p}(l))^{-1} \right) \right) \\ = \lim_{k \to \infty} \sum_{j=\tau(3\,k)}^{3\,k-1} \left( \sum_{i=1}^{2} \left( p_i(j) \prod_{l=\tau(j)}^{\gamma_1(j)-1} (1-\tilde{p}(l))^{-1} \right) \right) = 0.175 < \frac{1}{e}.$$

Thus, (2.19), which is a limit inferior type criterion, fails. This highlights the broad applicability and strength of our criterion.

#### REFERENCES

- [1] E.R. Attia, B.M. El-Matary, New aspects for the oscillation of first-order difference equations with deviating arguments, Opuscula Math. 42 (2022), 393–413.
- [2] V. Benekas, A. Kashkynbayev, A survey on sharp oscillation conditions for delay difference equations, J. Adv. App. Comput. Math. 8 (2021), 117–128.
- [3] V. Benekas, Á. Garab, A. Kashkynbayev, I.P. Stavroulakis, Oscillation criteria for linear difference equations with several variable delays, Opuscula Math. 41 (2021), 613–627.
- [4] L. Berezansky, E. Braverman, On existence of positive solutions for linear difference equations with several delays, Adv. Dyn. Syst. Appl. 1 (2006), 29–47.
- [5] G.E. Chatzarakis, I. Jadlovská, Difference equations with several non-monotone deviating arguments: Iterative oscillation tests, Dynamic Systems and Applications 27 (2018), 271–298.
- [6] G.E. Chatzarakis, I. Jadlovská, Iterative oscillation criteria in deviating difference equations, Mediterr. J. Math. 17 (2020), Article no. 192.
- [7] G.E. Chatzarakis, M. Pašić, Improved iterative oscillation tests in difference equations with several arguments, J. Difference Equ. Appl. 25 (2019), 64–83.
- [8] G.E. Chatzarakis, L. Horvat-Dmitrović, M. Pašić, Oscillation tests for difference equations with several non-monotone deviating arguments, Math. Slovaca 68 (2018), 1083–1096.
- [9] G.E. Chatzarakis, R. Koplatadze, I.P. Stavroulakis, Oscillation criteria of first order linear difference equations with delay argument, Nonlinear Anal. 68 (2008), 994–1005.
- [10] G.E. Chatzarakis, T. Kusano, I.P. Stavroulakis, Oscillation conditions for difference equations with several variable arguments, Math. Bohem. 140 (2015), 291–311.
- [11] G.E. Chatzarakis, J. Manojlovic, S. Pinelas, I.P. Stavroulakis, Oscillation criteria of difference equations with several deviating arguments, Yokohama Math. J. 60 (2014), 13–31.
- [12] G.E. Chatzarakis, Ch.G. Philos, I.P. Stavroulakis, An oscillation criterion for linear difference equations with general delay argument, Portugal. Math. 66 (2009), 513–533.

- [13] K.M. Chudinov, Sharp explicit oscillation conditions for difference equations with several delays, Georgian Math. J. 28 (2021), 207–218.
- [14] N. Kılıç, Ö. Öcalan, Oscillation criteria for difference equations with several arguments, Int. J. Difference Equ. 15 (2020), 109–119.

Bassant M. El-Matary bassantmarof@yahoo.com bhttps://orcid.org/0000-0003-4525-156X

Qassim University College of Science and Arts Department of Mathematics Al-Badaya, Buraidah 51951, Saudi Arabia

Damietta University Faculty of Science Department of Mathematics New Damietta 34517, Egypt

Hassan A. El-Morshedy (corresponding author) elmorshedy@yahoo.com bttps://orcid.org/0000-0003-2571-1215

Damietta University Faculty of Science Department of Mathematics New Damietta 34517, Egypt

Vasileios Benekas benekas@gmail.com bttps://orcid.org/0000-0001-9693-1499

University of Ioannina Department of Mathematics 45110 Ioannina, Greece

Ioannis P. Stavroulakis ipstav@uoi.gr bttps://orcid.org/0000-0002-4810-0540

University of Ioannina Department of Mathematics 45110 Ioannina, Greece

Received: May 18, 2023. Revised: June 18, 2023. Accepted: July 8, 2023.